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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 

◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

◊\ˆ◊w¯]…_Eı YÁPˆy‘] ( Foundation Course) 

]ÁX[˝◊[˝VÓÁ C a]ÁL◊[˝p˚ÁX 
 (FHS : Foundation Course in Humanities 

& Social Science) 

a]Ã^  f ◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) a+…SÔ C %a+…SÔ ^„‹óˆÃ[˝ y‘]◊[˝EıÁ„`Ã[˝ ◊\ˆ◊w¯„Tˆ 

Y“±ÛˆTˆÁ◊√º¯„EıÃ[˝Á %Á◊V] ^«„GÃ[˝ ^‹óˆ◊X]ÔÁS C [˝Ó[˝c˜Á„Ã[˝Ã[˝ Â^ 

c Õ◊Tˆc˜Áa ÈTˆ◊Ã[˝ Eı„Ã[˝‰ªK˜X TˆÁ ◊[˝`„V [˝ÓÁFÓÁ EıÃ[˝”X* 20   

 (F) \ˆÁÃ[˝„Tˆ %Á◊V[˝Áa›„VÃ[˝ ◊[˝EıÁ` aey‘Á‹ôˆ V ◊rÙ\ˆÜ›m◊_ Eı› 

Eı› ? Ac˜O V ◊rÙ\ˆÜ›m◊_ %Á◊V[˝Áa›„VÃ[˝ a]aÓÁ a]ÁW˝Á„X 

EıTˆFÁ◊X aZı_TˆÁ %L¤X Eı„Ã[˝‰ªK˜ ? 16 + 4 

 (G) "aÁ]Á◊LEı Y◊Ã[˝[˝Tˆ¤X' [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? aÁ]Á◊LEı 

Y◊Ã[˝[˝Tˆ¤„XÃ[˝ W˝ÁÃ[˝SÁ ◊c˜„a„[˝ "◊[˝[ Ô̋TˆX', "◊[˝EıÁ`' C 

"[˝ ◊à˘'Ã[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 16 

 (H) \ˆÁÃ[˝Tˆ[˝„bÔ W˝]Ô◊XÃ[˝„Yl˘TˆÁ [˝_„Tˆ Eı› Â[˝ÁMıÁX c Ã̃^ ? 

\ˆÁÃ[˝Tˆ[˝„bÔ W˝]Ô◊XÃ[˝„Yl˘TˆÁÃ[˝ Y„U a]aÓÁm◊_ Eı› Eı› ? 

   4 + 16 

 (I¯) \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ %UÔX›◊TˆÃ[˝ =YÃ[˝ ◊[˝–◊ªRÙO` DY◊X„[˝◊`Eı 

`Áa„XÃ[˝ Y“\ˆÁ[˝„Eı \ˆÁÃ[˝Tˆ›Ã^ ◊[˝„`bp˚Ã[˝Á V«◊ªRÙO mÃ[˝”±ºˆY…SÔ 

◊VEı ÂU„Eı Y Ô̂Á„_ÁªJÙXÁ Eı„Ã[˝‰ªK˜X* Ac˜O V«◊ªRÙO ◊VEı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 20 

 (ªJÙ) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L XÁÃ[˝›Ã[˝ aÁ]Á◊LEı %[˝◊ÿöˆ◊Tˆ Y^ÔÁ„_ÁªJÙXÁ 

EıÃ[˝”X* 20 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) 1857 aÁ„_Ã[˝ ◊[˝‰V–Á„c Ã̃[˝ Y“W˝ÁX EıÁÃ[˝Sm◊_ ◊[˝‰`¿bS 

EıÃ[˝”X* 

(F) ae◊l˘ä ªRÙO›EıÁ ◊_F«X : [˝«◊XÃ^ÁV› ◊`l˘ÁÃ[˝ Y◊Ã[˝EıîXÁ* 
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(G) XÃ[˝]Y‹öˆ› V„_Ã[˝ =„ï`Ó C Eı]ÔYà˘◊Tˆ Eı› ◊ªK˜_ ? 

(H) YÁÃ[˝]ÁS◊[˝Eı È`TˆÓ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? TˆÁÃ[˝ Zı_ÁZı_ 

Eı› ? 

(I¯) \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ E ıbEı %Á„≥VÁ_„XÃ[˝ EıÁÃ[˝S Eı› ◊ªK˜_ ? Ac˜O 

%Á„≥VÁ_X ÂEıÁUÁÃ^ ÂEıÁUÁÃ̂  H‰ªRÙO◊ªK˜_ ? 

(ªªJÙ˜) È[˝p˚Á◊XEı V ◊rÙ\ˆÜ› ◊[˝b„Ã^ ÂXc˜Ã[˝”Ã[˝ ]TˆÁ]Tˆ [˝ÓÁFÓÁ 

EıÃ[˝”X* 

(ªK˜) %X«~Tˆ %UÔX›◊TˆÃ[˝ Y“W˝ÁX È[˝◊`rÙÓm◊_ Eı› Eı› ?  

(L) ◊X[˝ÔÁªJÙX› Ã[˝ÁLX›◊Tˆ„Tˆ LÁTˆ-YÁ„TˆÃ[˝ Y“\ˆÁ[˝ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

(Mı) Â[˝rÙX [˝Ó[˝ÿö̂ ÁÃ̂  %Á„≥VÁ_„XÃ[˝ V«◊ªRÙO Y^ÔÁÃ^ Eı› Eı› ◊ªK˜_ ? 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) aÃ[˝_ a]ÁL EıÁ„Eı [˝_Á c˜Ã^ ? 

(F) VÁaY“UÁ Eı› ? 

(G) [˝SÔ-◊[˝„•„bÃ[˝ ◊[˝Ã[˝”„à˘ %Á„≥VÁ_X ÂEıÁXÀ ◊TˆX◊ªRÙO ]…_ 

X›◊TˆÃ[˝ CYÃ[˝ Y“◊Tˆ◊úˆTˆ ? 

(H) Eı_ÓÁS]«F› Ã[˝Ár—Ù EıÁ„Eı [˝„_ ? 

(I¯) È•TˆVÁ] [˝Ó[˝ÿöˆÁ Eı› ? 

(ªJÙ) LXaeFÓÁ V–”Tˆ [˝ ◊à˘Ã[˝ Â^-„EıÁ„XÁ ◊TˆX◊ªRÙO a]aÓÁ ◊_F«X* 

(ªK˜) M«ı]-ªJÙÁb Eı› ? 

(L) \ˆÁÃ[˝Tˆ›Ã^ ae◊[˝W˝ÁX %X«^ÁÃ^› a]ÁLTˆ‹óˆ [˝_„Tˆ Eı› 

Â[˝ÁMıÁÃ^ ? 

(Mı) =~Ã^„XÃ[˝ Y“◊y‘Ã^ÁÃ^ LXG„SÃ[˝ %e`G–c˜„SÃ[˝ Y„U Y“W˝ÁX 

Y“◊Tˆ[˝μ˘Eı Eı› Eı› ? 

A’) "◊G–Sc˜Á=a Y“◊Tˆ◊y‘Ã^Á' Eı› ? 
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English Version 

1. Answer any two questions : 20 × 2 = 40 

 a) Explain, in detail, the history of tool making 

as propounded by the anthropologists on 

the basis of complete and incomplete tool 

making process of the primitive age. 20 

 b) What are the approaches to the 

development of tribals in India ? Do these 

approaches achieve success to solve the 

tribals’ problems ? 16 + 4 

 c) What is meant by ‘Social change’ ? Discuss 

‘evolution’, ‘development’ and ‘growth’ as 

the ideas of social change. 4 + 16 

 d) What is meant by secularism in India ? 

What are the hindrances to the path of 

secularism in India ? 4 + 16 

 e) Indian experts have evaluated the influence 

of British colonial rule on Indian economy 

in two significant aspects. Discuss these 

two aspects. 20 

 f) Evaluate the social position of women in 

Indian society. 20 

2. Answer any three questions : 12 × 3 = 36 

 a) Analyse the main causes of the revolt of 

1857. 

 b) Write a short note on Basic Education Plan. 

 c) What were the purposes and methods of 

the moderate party ? 

 d) What is meant by nuclear winter ? What 

are its outcome ? 

 e) What were the reasons of peasants’ 

movement in India ? Where did it happen ? 

 f) Explain Nehru’s views on scientific attitude. 

 g) What are the basic characteristics of 

undeveloped economy ?  

 h) Discuss the caste influence on electoral 

politics. 

 i) What were the two stages of the Enclosure 

movement ? 
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3. Answer any four questions : 6 × 4 = 24 

 a) What is a simple society ? 

 b) What is slavery ? 

 c) What are the three principles on which is 

the movement against racialism based ? 

 d) What is the welfare state ? 

 e) What is double price system ? 

 f) Write three problems of rapid growth of 

population. 

 g) What is Jhum cultivation ? 

 h) What is socialism according to the 

Constitution of India ? 

 i) What are the main hindrances to the 

peoples’ participation in the process of 

development ? 

 j) What is ‘Greenhouse Effect’ ? 

    


